
 

 



 

 

a) 
325

625
       b)   

2𝑎2− 2𝑏2

3𝑎+3𝑏
     c)  

𝑃3− 𝑃𝑄2

(𝑃+𝑄)2  

x − y

𝑥2 + 2𝑥𝑦 − 3𝑦2
−  

2

𝑥 − 𝑦
−  

7

𝑥 + 3𝑦
 

a) 
1

√7+ √5
      b)   

1− √𝑥+1

1 + √𝑥+1
      c)   

𝑃3− 𝑃𝑄2

(𝑃+𝑄)2    

 𝑦 =  𝑒2𝑥2
− 1

 𝑦 = ln(𝑥 − 1)
 2𝑥2 =  2𝑥 + 11

𝑎 =  (
   1
−1
   3

) 𝑏 =  (
1
1
3

)  𝑐 =  (
   2
−2
   1

)

 𝑎 ∙ 𝑏

 (𝑏 × 2𝑎)  × 𝑐

 ‖(𝑎 × 𝑐)  × (𝑏 × 𝑐)‖

𝑢

𝑝 =
𝐾

(1 + 𝑇𝑢)
 

 

 2𝑥 + 5 ≥ 13

 𝑥 ≥ 0

 𝑥 ≥ 0

𝑥 ≥ 50

 𝑥 ≥ 0

𝑥 ≥ 4

𝐴 = {2, 3, 4} 𝐵 = {2, 5, 6}

𝐶 = {5, 6, 2} 𝐷 = {6}

 

4 ∈ 𝐶;  5 ∈ 𝐶;  𝐴 ⊂ 𝐵;  𝐷 ⊂ 𝐶; 
𝐵 = 𝐶;  𝐴 = 𝐵?

 

𝐴 ∩ 𝐵;  𝐴 ∪ 𝐵;  𝐴 ∖ 𝐵;  𝐵 ∖ 𝐴;
(𝐴 ∪ 𝐵) ∖ (𝐴 ∩ 𝐵);  𝐴 ∪ 𝐵 ∪ 𝐶 ∪ 𝐷


